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FHETfTRET 145911 @1 aga FIae] & 9igq 3K 371 &xed] & 9 Sy :

(i) 39 ¥97-97 4 33 397 3 | @t yo7 rfAard 3 |

(i) T8 Y¥7-97 Giel @USl 4 a7 8- @vs &, &, T, 90d & |

(iii) @IS H T 97 G&IT1 & 16 TF TglahediT (MCQ) TFR & Uh-Uh 3% & Jo7 & |

(iv) TWUE @ T J97 &1 17 T 21 7% 3fd TG-I77 (VSA) FHR & F1-31 371 & Jo7
&1

(v) @WUE T T J97 &I 22 T 28 T TG-FT0T (SA) FHR & di7-A17 37! & Fo7 3 |

(vi) TUE T F 97 G&IT 29 TIT 30 FG-IERT TAR-AR 3Hl & 97 & | Je4% J97 7
3T-Y97 & 7T Uk 37-J97 H AR fdheT 1397 T & |

(vii) TWUE FH ¥97 G 31 G 33 T F15-3709 (LA) JHR & qia-giel 371 & F97 & /

(viii) IJ¥7-99 H GHY [qheq 787 1597 17 8 | Tef9, @vs @ & 1 Y97 4, @S 7T & 1 J97

H Gvg g %2 o § a9 @8 T & 3 J¥H 7 Jalk% [heq &1 JIEaeT 397 a7
8 | Terrsf #1 57 Fo1 & @ [ vk J97 &7 I} For@ 1 8 1

(ix) T8 BET EHTSF &, TH-FR 3K 3fad €9 G T 97 F91T 717 =060 |

«usg

Yo7 G&T 1 § 16 7% Fglasedid (MCQ) YR & Uh-Udh Hb & J97 & | 16x1=16

1. WHEE IS H U FLG fawmsiH d9= () B 1 91 7 ¢
(a) Tio=m = 50
(b) T YERIY] URGRN TSRVl (AT Yeg[HeST) o €U H 3Tl @
(c) 19 S[hIY] JSIV] o ohIIAehIged (TTEIIATSH) § Ufrse gl @
(d) 9 Y] F1 wfisH (GhEM) o frle (AT Meter) W e
TATsH Wi hear 2

e e

2. 39 foew &1 =@a HINU o 325 ALY Sk (ATG) HIRERIS 6
A ISITU[SHA S5hH G - dTel JUITeRUTT <hl Ha! T ol G T3 3 |
(a) 325 (b) 650
(c) 1300 (d) 975
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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 33 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 16 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B — Questions no. 17 to 21 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C - Questions no. 22 to 28 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D — Questions no. 29 and 30 are case-based questions, carrying
4 marks each.

(vii) In Section E — Questions no. 31 to 33 are long answer (LA) type questions,
carrying 5 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
1 question in Section B, 1 question in Section C, 2 questions in Section D and
3 questions in Section E. A candidate has to attempt only one of the
alternatives in such questions.

(ix)  Use of calculators is not allowed.

SECTION A
Questions no. 1 to 16 are Multiple Choice (MCQ) type Questions, carrying
1 mark each. 16x1=16
1. A human ovum completes its second meiosis :

(a)  at the time of fertilisation

(b)  when the sperm touches the zona pellucida

(c) when the sperm gains entry into the cytoplasm of the ovum

(d) when the acrosome of the sperm releases its enzymes on corona
radiata

2, Choose the option that gives the correct number of pollen grains that will
be formed after 325 microspore mother cells undergo microsporogenesis.

(a) 325 (b) 650
(c) 1300 d 975

51/1/3 ~ o~~~ Page 3 P.T.O.
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3. =g wy fiw e | Wy 19 =R g gheat & 9w fog o qen
WY I1 8 37 gheai o iRt afient &1 gurien T g | 39 fasew 1 <M
I s THRIES IRAAT 1 3Teh A1 b 1Y 6l &1 9 GHfad Toham T
g

&Y I &7y 11
(TR gf) (F %7 TPT)
p. faww T i, 3TSIcESH o HeH
Q. Heddrs 375 ii, TSR | IERIORT Shi WeAhIUfshaT
R. 90 A 3@ iii. TS HaT i IS hHT A TG
S. Egell iv. TS HE eI T Sferiet s
faehey :
(a)  P-ii, Q-iv, Reiii, S-i (b)  P-i, Q-ii, R-iii, S-iv
(¢)  P-iii, Q-i, Reiv, S-ii (d)  P-iv, Q-iii, R-ii, S-i
4. 59 %9 H GEYH U ST STIRA TohAT T, I8 B
(a) T8 (b) TR
(© 9 (Imad) d) I

5. " U TN EEdue MEIU B QU IR STEHehg! W ITdeied WhH H
it T X7, et Y’ Qe UHATSH 2 %l I8 |

2.4
3 sy 3]
L1L
5 3’
oz
oy
A X Haet Y TR 7
(a) THTIS 1 (o) STTAT Ui o
(b) D T (p) STTAT G
(c) 399 famm (o) AT, Jie RS
@ I T (o) AT GiAR
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3. Given below are two columns. In Column I the names of four
contraceptive devices are given and in Column II the modes of action of
the contraceptives are given. Select the option where the contraceptive
devices are correctly matched with their respective modes of action.

Column I Column II
(Contraceptive devices) (Modes of action)

P. Lippes loop 1.  Inhibition of ovulation
Multiload 375 ii. Phagocytosis of sperms in uterus

R. Subcutaneous iii. Causes thickening of cervical
Norplant mucous

S. Saheli iv. Makes cervix hostile to sperms

Options :

(a) P, Q-iv, R-iii, S-i (b) P4, Q-ii, R-iii, S-iv

(c) P-iii, Q-1, R-iv, S-ii (d)  P-iv, Q-iii, R-ii, S-i

4, The first gene-sequenced crop is :
(a)  Wheat (b)  Tobacco
(c) Rice (d)  Cotton

5. Identify the region ‘X’, the factor Y’ and the enzyme Z’ involved in the
process of transcription in prokaryote as shown in the schematic
representation given below.

(X)
3 5’
L1L
5' 3’
‘Z,
(Y?
Region X’ Factor Y’ Enzyme ‘72’
(a) Terminator Sigma (o) RNA polymerase
(b) Promoter Rho (p) RNA polymerase
(c) Promoter Sigma (o) RNA polymerase
(d)  Promoter Sigma (o) DNA polymerase

51/1/3 ~ o~~~ Page 5 P.T.O.
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6. ST ST qoheileh gRT ITed Teh &= X’ AT <fiF 31 SARBA 1, 2 3R 3
o ST MHIEA b1 eI hifou | F=fafigd # @ sH-a1 ey 3@ 929 X
% GuTferd S 21 Sl gt 8 ?

o o o
o] odlth  odlth odlth

X 1 2 3
(a) 19912 (b) 29T 3
() 14913 (d) hdd fh 3

7.  TU® i T I ASE 6 FEY H TTR{deh ST % TehH hl TEl &1 H IRATNG

T I Taehed &1 == HIfT

N

et A g=n

b
Cd

S 1 TéT i T ——
(a) TARIIHRS IO — Fifeh sl e A TSI bl ST 90T BT 8 |
(b) Toeme aTur — Fifeh DI qAT At e el ST T 90T BiAT 8 |
(c) fesmeder swor — wifer et 7T aret fSrwt skt ST BraT B |
(d) TR I — Fifeh e hl HEIH AGE T (SUHI hT 90T Bl
g |
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Study the DNA profiles obtained as a result of DNA fingerprinting of a
child X’ and three individuals 1, 2 and 3. Which one of the following

6.
options shows the possible parents of the child X’ ?
Child Individual Individual Individual
X 1 2 3
— e —
] | I
I
— _—— s
I —
| I
(a) 1 and 2
(c) 1 and 3
7.
3
&
-
T .53
o
o
Tt
2
g
=
pd
(a)
selected further.
(b)
lengths are selected.
(c)
selected.
(d)
selected.
57/1/3 ~~~~

(b)
(d)

Only individual 3

Select the option that gives the correct description of the process of
Natural Selection with respect to the length of the neck of giraffe.

~
Cd

Neck length in giraffe —

Stabilising selection as giraffes with longer neck lengths are

Disruptive selection as giraffes with smaller and longer neck

Directional selection as giraffes with longer neck lengths are

Stabilising selection as giraffes with medium neck lengths are

Page 7
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f= & 78 arferent # dieAw & fAfafad § @ foeg T @ i =4 fowse

(dtefrmst sTEen Afufsran) o e aifea afomm g g 2

faeheliehtuT o ToTT 39T | SR % 7T IwmT fepalm S
:l'lfﬂ izhe‘ll Wllq dlcdl dliYHIH Ww
(a) I 3= d9uH / 90°C qmg TR (emeed)
(b) 11 He a9 / 50°C GIER IRl
(c) 111 He 99 / 50°C amg et
(d) v 3= 999 / 90°C a9 ST

‘AT 37989 fshaT & SH d1fsd S ol [ftsha w1 o fou fafafaa 4

T fopEent 39T fomam STaT B 2
(a) ds SiTag

(b) ds 3EAT

(c) r $iTAU

(d) ST qiciRs

10.

51/1/3

fefaRaa a3l § & DIF-A1 S9-3d%h JJuuSHd ATSeieH ol fEeient

g1 & ?
spitEIRaT

(a)
(b)
(c)
(d)

TSI

TTIITSRTH

g

o 2o ~2o 4
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8. Which of the following samples of DNA in the table given below will give
the desired result during polymerase chain reaction ?

Temperature used for Enzyme used for
Sample . .
Denaturation extension
(a) I High temp. / 90°C Heat stable
(b) II Low temp. / 50°C Heat stable
(c) I1I Low temp. / 50°C Heat resistant
(d) IV High temp. / 90°C Heat unstable

9. Which one of the following is used during ‘RNA 1’ process, to silence the
desired gene ?

(a)
(b)
(c)
(d)

dsDNA
dsRNA
rDNA

DNA polymerase

10. Which one among the following biofertilizers does not fix atmospheric
nitrogen ?

(a)
(b)
(c)
(d)

51/1/3

Oscillatoria
Rhizobium
Azospirillum

Glomus

o 2o ~2o 4
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11. 93 Oy few mu 8 | 49 18§ =R THTSH] i 991 &9 11§ UHARE! & Yl
i T € R 7 | FefaRea fasedt § @ a1 fosed TamsHl @1 39 HEtd

Tl § Hel bl Tal ®9 H AT 8 ?
&7y I &7y IT
(7757 (57
P. AT AR i. e % BN A FfFresed ®
BT &
Q. IieEd TERfgas il €U e W IEHT Wi forearia
Tl B
R. 3% Uichims iii. giuqu @uel @ e 3
S.  Yfdeed TEHfdaus iv.  €ieae i fafirse Tl W e 8
ICeaar
(a) P-i, Q-ii, R-iv, S-iii (b) P-iv, Q-iii, R-ii, S-i
(c) P-i, Q-iv, R-iii, S-ii (d) P-iii, Q-1, R-ii, S-iv
12. gifoar & 3gE & ¢
(i) M % J& W I I AMThe
(i) A (Fap) T&ft qA HisT
(i) A" % & T I AT FHepeT
(iv) @ W &1 (ST i) el SHehel
(a) (1) (i1) (b) (1) AT (iv)
(c) (i1) AT (ii1) (d) (1) dAT (iv)

Y7 §&IT 13 & 16 & 1c79, 51 %97 157 T & — [574 b &1 SI1¥ehe (A) 97 G %l
HRI (R) GRT e 137 71 & | 37 Fo7] & &gl I} 414 137 71T B1s] (a), (b), (c) K

(d) & @ g7a< e |
(a) AR (A) 3 SR (R) THT T&l & W RO (R), 3TheT (A) H
e AT LT B |
(b) AT (A) 3R FRU (R) GHI T& &, Tq SR (R), AR (A) hi
HE! AT T3T Ll ¢ |
()  HAWHA (A) W&l 8, g HIN (R) Ted & |
(d) 37w (A) TeId 8, 9 HROT (R) TE 7 |
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11. Given below are two columns. In Column I is the list of four enzymes and
in Column II is the list of functions of the given enzymes. Which one of
the following options shows the enzymes matched with their respective
functions correctly ?

Column I Column II
(Enzyme) (Function)
P. DNA Ligase i.  Removes nucleotides from ends of
DNA
Q. Restriction exonuclease ii. Extends primer on a DNA template
R. Taq polymerase iii. Joins the DNA fragments
S. Restriction endonuclease iv. Cuts DNA at a specific position
Options :
(a)  P-, Q-ii, R-iv, S-iii (b)  P-iv, Q-iii, R-ii, S-i
(c) P-i, Q-iv, R-iii, S-ii (d)  P-iii, Q-i, R-ii, S-iv

12. Examples that show commensalism are :
(1) An orchid growing on mango tree
(ii))  Cuckoo bird and crow
(iii) Cuscuta growing on Nerium tree

(iv) Barnacles growing on a whale

(a) (1) and (i) (b) (i) and (iv)
(¢) (i) and (iii) (d) (@ii) and (iv)
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

57/1/3 ~a~~ Page 11 P.T.O.
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13. 3By (A): 9l U S qA1 ISR Tk S H1 e =k Th-gH b
forT Q0 181 &1 Tehal |
FRU(R): 99 & 31 ¢ o 07T ISR o oURA § a9 id &, dl agal |
TSR o godi BT rTor off B ST 7 |

14.  3719%97 (A) : HITSERT I YOI SEAT § Fe¥q 77T a0 A o Tofw 38 foafia

Hih BIC-BIC AGodH Tel H 96 (HIC) od & |

HRU(R):  SITAT T 95d @ell 95 @ |
15. 37%%97 (A) : SITAT il Tl TARH gRI e oh O 36 d fefoatt 9
Teh i 1 ATaTIHdT B B |
FRU(R): 39 33T ol d i o {IU Teh UTCH hITSTehl hl ShIS[EAT oI
garfera (Iu=ied) foram ma |

16.  379%eT (A) : Sfeq = quiian foh geft St|n i 1fd @ gig & aren wmoft off
freTTet e e gd Ehd B |
HRO(R):  IEE H 9 GETeH IEfUd Bd B, O TS S § A9
STHSTTd AT Sl IS Shid Shl AT il ® |

Qs @

17. (%) FRfoepg T & dfimve & forg R @ qon fhe SR T Afctent yorpie
7 yferse Bt 8 2
(@) T AfcTert # Jufed W hegeh (T JWehi) o UfasT &l Iooi@ shifow | 2

18. (%) (WX THAAT (TrHeH) % &I 33T Hl Soaid hi |
(@) YRa & U@ foredl @ Tt o am foarfae s mem wmeid & fow aewagt

g | 2
19. (%) faifaepi (Teamaifead) 1 stenge 3w (HaA) a1 Td LT =iy ?
I3 Q1 HRU ST |
(@) “vHt g @ St 3 6 fafhcas g wwafas gfadfas =1 <
(GUeh) T ST =MMET |7 A hl =EETaar ey | 2
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13. Assertion (A) : A species of wasp and a fig species cannot complete their

life cycle without each other.

Reason (R): While visiting wasps come to lay eggs in the fig

inflorescence, the flower of wasp gets pollinated in return.

14. Assertion (A) : For sequencing, the total DNA from a cell is isolated and

converted into random fragments.

Reason (R): DNA is a very long polymer.

15. Assertion (A): In order to cut the DNA with a restriction enzyme, it

needs to be released from the membrane which encloses
it.

Reason (R): A plant cell was treated with chitinase to achieve this.

16. Assertion (A) : Darwin showed how even a slow growing animal like an

elephant could reach enormous numbers.

Reason (R): When resources in the habitat are unlimited, each species

17. (a)
(b)
18. (a)
(b)
19. (a)
(b)
57/1/3

has the ability to realise its innate potential fully.

SECTION B

From which end of the ovule, and how does the pollen tube gain its
entry into the embryo sac of a Hibiscus flower ?

State the fate of the male nuclei present in the pollen tube. 2
Mention the main objective of the Ramsar Convention.

Name any two sites in India that are important in the Ramsar
Convention. 2

Why should antibiotics not be taken indiscriminately ? Give any
two reasons.

“It is advisable to complete the course of antibiotics as prescribed
by the doctor.” Justify. 2

~~~~ Page 13 P.T.O.



WP collegebatch con

20. (&) () = fu =i A fufeg ‘A’ qan B @t=ATeTt @ ugEE w3

(B)

(i)  Sg-grEnfehl & fafis T § 39 78 & I i | 2

AT

(@) 38 TshH hl AT HIfT ek gRT Teh SHETY] hIfRTehT hl §Heh TS
g foordi dvau = ud s & fou femash g9ea qon a9 g9
(IT=ER) gRT “G&rm’ ST ST R |

21. = fou U o # A qur % oo Al U STawAT i ST T 7 | $eh
Tey ¥ fefafiga st w6 3w i

(%) To= ¥ @t 13 AHa Yol STawe Sl 9g= &L 38T AW ey |
(@) U Higar < m= et § 39l TEl Tafedfd # Ieoig HIfT |
() AmETfRd XA Y’ S WU B ¥ Jcdeh 1 Ush-Ush Jehld faifgu |
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20. (a) () Identify and name the structures ‘A’ and ‘B’ marked in the

image given below :

(B)

(i1) State their importance in various biotechnology experiments. 2

OR

(b) Explain the process by which a bacterial cell can be made
‘competent’ to take up foreign DNA from its surroundings, using
divalent cations and temperature treatment. 2

21. The diagram given below shows a developmental stage of human embryo.
Answer the following questions with reference to it :

(a) Identify and name the human embryonic stage shown.

(b) Mention its exact location in the normal pregnancy of a woman.

(c)  Write one function of each of the two parts labelled X’ and Y. 2

57/1/3 ~a~~ Page 15 P.T.O.
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22. (&) () Toftm yr 6 ggme S drenfifeat o w6t M arell 39
deh-iehl o fefeRaa wfer i 1 foear Hifse 2
(1) Ie.378.1%. 8.
(2) ATE.H.TY. 37T,
(3) .93
(4) S.o7E. % 4.

(i) 39YH ° ¥ fopm qelen (Aleh) @l am fu=m T A1 571 deha ?
U I & U | Rl fafau | 1
AT

(@) fmfaRea # favg HiT : 3
(i)  IRYUY qAT HAH

(i)  Fehredt auT fogwmred! Sieher

(iii) ST qAT AT

23. IR /Y I I FH UgNd sOH o fU IFeH A1fed HAA ITER HIF A
3YIR fohaT AT 8 | 39 SU=IR UshH o HeY H H=fdfgd shl samean s : 3

(F) WY TS (FAT)
Q) dfshira I

(
() AEEER AUH AU (VRIS sl STgeeed)
(

%) IMYHH FH AFa (JaHE T o HH) o UH G FAFTT (TT3HH)
el < W faRae S e 15 fafoem oy qd faemm 9 |

(@) fiard a1edi o FAJAR 3egrenlf9e /a7 fha au-shret | 3R el Td & ?
(M) gl Efeferg e F141 sdew & &= @ A fafau | 3

25. hdd ISMTHS TG hl HERAT H, Fohl 3N a9 (EcoRI) 3 EwAT AT
giqeed TeigfaaTs i fsha g1 g €iequ & i o o =Xon ol

24.

TITSY | 3
26. (%) gan (Afcwe) sreg aon gen (fommed) ofeg o fawg HifvT |
(@) TaH ITEg % HaH A 01 I T Toget 3Heh! Sarea iy | 3
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(a)

(b)
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SECTION C

(i) Expand the abbreviations given below, used for different
modes of assisted reproductive technologies :

(1) ZIFT
(2) ICSI
(3) IUT
(4) GIFT

(ii) Which one of them cannot be considered as a procedure of
IVF ? Give reasons in support of your answer.
OR
Differentiate between the following :
(i)  Perisperm and Pericarp
(ii1) Syncarpous pistil and Apocarpous pistil
(iii) Plumule and Radicle

Treatment of wastewater is done in a sewage treatment plant to make it

less polluting. Explain the following with reference to this treatment

process :

(a)
(b)
(c)

(a)

(b)

(c)

Primary sludge
Activated sludge
Anaerobic sludge digesters

Name the two primate ancestors of the present day humans, who
existed approximately about 15 million years ago.

According to geological records, when and where did
Australopithecines live ?

Give two differences between Homo habilis and Homo erectus.

With the help of a schematic diagram only, show in three steps,

the formation of recombinant DNA by the action of restriction

endonuclease — EcoRI and DNA ligase.

(a)
(b)

51/1/3

Differentiate between malignant and benign tumours.

Name and explain the most feared property of a malignant tumour.
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27. (%) ‘WA RIRERT (A HIRERRT) o AN AR |
(@) WAFdEl B T HIRERIST i al ¥ Ted a1 ST Hehdl 8 ?
()  AFE W o ITIR B TH DINERIAT o g al AN AfEu | 3

28. Ueh YNGR o WG] =6 &l 9 &9 ¥ <9 =1 2 | SHhI JAIIT Hloh

1O——112

0 O
D o

(%) oI INES! A H g T U et faehr B 3reran gurEl faer 2

RO Y |
(@) %Hqﬁaﬂﬁwﬁ(nmwﬁ)aﬁqswﬁqﬁﬁ@ﬂdwﬁm
|
()  3H SuEct @ H fhd Th =RE o SRRy (SHET) S qgaE Tw@l
hl ST Fehdl ?
(") 39 7Y 6l ygaH hHifve St Fifvea v @ fawmpmsht 7
(5) g U o gga fasr 3 St Afert agen ? 3

Qs Y

29. T IS T H S U AT I IH/TIATEH & €9 H ATTIH Tl 8 | Th
SHIfSERT T | S hl ARE e 3R hd TUH g 1 TETAHal gl @, qd
Ush STHHehgehl HINERT 0 | 9 &t il &1 o &3 g ], S9!
AR SF-TARHAT o AHIE qAT ATTARThITR] ShaaTd Siehel oh Tgh Tl
T fopm T | F FiemE O RIS IUTIEd W 3 g Ufquiied “ele Saeteh
(7% STUT) FehedHdT o T 38 1965 | Hieic JWHR & HEATHA fohal T |
(%) % YIS (T MWL) ol e fafid T =i et Srar & ? 1
(@) el Il g fob “Sfiam] SIfteh § &% U= i fieaie Tcias
e T W AT &+t &t @ 17 A ol =it g il | =
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(a) Write the characteristics of ‘stem cells’.
(b) From where can one obtain ‘stem cells’ in humans ?

(c) State any two applications of ‘stem cells’ in curing human diseases. 3

Study the pedigree chart of a family given below and answer the

questions that follow :

1O—-112

Y Qcs—"
w0 O

(a) Is the disease in this pedigree chart a recessive or dominant

disorder ? Give reason.

(b) Identify the female individual in this family, who for sure is
homozygous.

(c) Genotype of which one individual cannot be identified in this
pedigree chart ?

(d) Identify a male who is definitely heterozygous.
(e) Is this disease a sex-linked or an autosomal disorder ? 3

SECTION D

Gene expresses itself in a cell system as a protein/enzyme. How does an
expression of gene occur in a cell system and when does it need to
occur, and how the gene expression is regulated in a prokaryote cell
system was studied by the combined efforts of Jacque Monod, the
biochemist and Francois Jacob, the geneticist. For their work on lactose
metabolism in E. coli and introducing the concept of “/ac operon” they
were awarded the Nobel Prize in 1965.

(a) Why is lac operon said to be a transcriptionally regulated system ? 1
(b) It is said that “the lac operon has to be operational at a very low level

in the bacterial cell all the time.” Justify. é

57/1/3 ~a~~ Page 19 P.T.O.



%IE @couegebqt.Chcom
[=

() &% YuTeies H e ST w4 (emE)’ St % ' ° fufed s TR

ST 8 ? é
(") Sfam] & 9a¢q ATEIH H I ohl AU § 7% JeTcieh i ASHICH
M@ 1Y | 2
BPE)
(") e o gagq qead § Wk ol 3ufdfd § e J=Teish 1 ANSHICHS
IRG TR | 2
30. = fou MU @ # gzt o &= 1 ToETeneh fEqwr fean w7 e she:
‘A A B’ g & Fafed feu w2 | 38 FamTonss FEAw 1 stewE %k
frfafga goi & s &fS |
90° N
60° N
[ en O\
/ e 0° A
\ 30°S
\ 60° S .
90° S
(®) & &F ‘AT & Bl IR A &, O i fafarear w319 Jeor foafan
qn g sror ot forfla | 3
(@) R A T HRA § 9IC S ATl qiEr] i St sl STHI Sl
1 Ieeh@ HINT | 1
BRG]
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57/1/3 ~~~~ Page 20



30.

WP collegebatch con

(c) Why is the regulator gene in lac operon marked as 9’ gene ? é
(d) Draw a schematic diagram of lac operon in absence of inducer in the
culture medium of the bacteria. 2
OR
(d) Draw a schematic diagram of lac operon in the presence of inducer in
the culture medium of the bacteria. 2
Study the diagrammatic representation given below of the Earth with
regions marked ‘A’ and ‘B’ respectively. Answer the questions that follow.
90° N
m
[ ax O\
/ EQUATOR 0°
A
\ 30° S
\\\ 60° S
B
90° S
(a) Write the observations made regarding the species diversity when
moving from region ‘A’ to region ‘B’. Give two reasons also. 3
(b)  Stating the reason, mention the approximate number of bird species
recorded in India. 1
OR
(b) Name the region in the world that records the greatest biodiversity
and mention why. 1
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SECTION E

A time-bound vaccination programme is followed for the children in

our country from their birth up to ten years of age. A graph plotted

below shows the effect of the vaccination followed by infection by the

same pathogen, and the antibody concentration in the blood of the
child.

(1)

(ii)

Antibody concentration in Blood

Vaccine is administered here

-—— ]

oo f Reinfection with same pathogen

/

E

O 50 100 150 200 250 300 350 400 450 500

—> Days after administration of vaccine

Explain why the administration of a vaccine causes an

increase in the antibody concentration.

If the child is infected with the same pathogen almost four

months later, the antibody concentration in his/her blood

1ncreases

o 2o ~2o 4

very fast. Explain why.
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1 Tsh-Ush I9TT ot feafgu
(1) e
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(iii) A table given below gives information about different types of
immunity and how they are attained. Identify ‘P’, ‘Q’, ‘R’, S’
and T in the table. 5

. Presence
. Type (?f PrOdl.lCtlo.n of memory Mode attained
immunity | of antibodies
cells
(1) | Natural, Yes ‘P ‘QY
active
(2) | Natural, No R Across the
passive placenta  during
pregnancy/breast
feeding
(38) | Acquired, S Yes Getting a vaccine
active during breast
feeding
(4) | Acquired, T No Getting an
passive injection of
antibodies
OR

(b) (i) What is the chemical name of ‘smack’ ? Why is the consumption

of smack considered as an abuse ?

(ii) Name the source plant and one effect of the following drugs on

the human body :
(1) Marijuana
(2)  Cocaine

(3)  Morphine 5
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32. (a) Study the diagram given below showing the modes of pollination.
Answer the questions that follow.

(i) The given diagram shows three methods of pollen transfer in

plants. What are the technical terms used for pollen transfer

methods ‘1’, 2’ and ‘3’ ?

(ii) How do the following plants achieve pollination successfully ?

(1) Water lily

(2) Vallisneria

(iii) Flowering plants have developed many devices to avoid
inbreeding depression. Explain one hereditary and one

physiological device which helps plants to achieve this target. 5

OR
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(@) U OM= OHd Sft & 3dd =3k i = fa g qurtan e 2 | sHeR
0T hteh feu T Hefed TeAt & I afu

8

3fehd T 3TTdd =I5k o [eadl ol SATd hidl &

o

() F=faRea & foru sgfea ooy sreg @& 8 2
(1) feam1-7
(2) Team 8-12
(3) feod 16-28
(4) fam 13-15
(i) FrfaRaa safa o stemrll gHE qun Jgwaly gEE 6l i
<! STEIT HINT
(1) feew 8-12
2 f@m13-15
(3) Tca® 16— 28 5
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(b) Observe the diagram given below showing the menstrual cycle of a

normal human female and answer the questions that follow :

Numbers indicate the days of the menstrual cycle

(1) What are the suitable technical terms used for the following ?
(1) Days1-7
(2) Days8-—12
(3) Days 16 — 28
(4) Days13-15

(ii))  Explain the role of ovarian and pituitary hormones during the

following time periods :

(1) Days8-—12

(2) Days13-15

(3) Days 16— 28 5
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(i) Describe the phenomenon of adaptive radiation as explained
by Darwin.
(ii)  Is human evolution an example of adaptive radiation ? Give
reason in support of your answer. 5
OR

You are given a tall pea plant and asked to determine its genotype.
Name and explain the cross that you will carry out to find the

possible genotype of the given tall pea plant. 5
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